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1. BEBREOE
(1) B
ARG EERD 36, 836, 593 —
ERMEZIMELS 34,728, 750 —
ARG ERMESFFR 2,107, 843 —
REBEERD 89, 930 —
EMREEEESZIFR 80, 000 —
REEHE (T 5| BB EZEFIR 1,920 —
B EMEEFRIEEIIAR 8,010 —
FUL I 18, 535 —
ERMEZRAR 18, 535 —
EEIREt 36, 945, 058 —
2) BEER

EXS 49, 355, 713 —
REHRBAE 30, 000, 000 —
RN & 3, 900, 000 —
ERRREDE 2, 030, 000 —
EMERIREE 1,897,588 —
EXEEE 11,528,125 —
E 894, 282 —
SEY N 3, 855, 659 —

& B 2,298, 800 —
aHFY 2,290, 000 —
BEEE 392, 000 —
EERAE 485, 096 —
RERBE I SEBEALE 280, 000 —
REEHE (T B A 92, 000 —
REXBE 106, 691 —
BIEE 183, 411 —
HEEHE 12, 040 —
BfEH 348,176 —
HEME 63, 357 —
XBERE 38, 430 —
ME 188,183 —
EERE 1,284,182 —
INGE-= 3, 080, 209 —
& B 985, 200 —
aHFY 885, 000 —
BEEE 588, 000 —
RERBE I SERALE 120, 000 —
REEHE (B A 138, 000 —
EERAE 364, 009 —
RiE 1,570, 594 —
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EBME 2,633,379 - —
HEME 128, 621 - —
STEY: N 53,414 - -
REXEE 351, 764 - -
BIEE 106, 964 - -
MEEHE 9, 600 - -
BfEH 232,118 - —
XBERE 830, 970 - —
BAELE 22,811 - -
HE 897, 057 — -
REERG 56, 639, 895 — —
Tl 8 20 3R B A 2 B H 1R R EE A 19,694, 837 — —
HliS F 5t 0 — —
LEIRREIBREE A 19,694, 837 — —

2. BENMERDOE
(1) #EESE

BEMRE 0 — —
2) BEHNER

RENERG 0 — —
LR ESMERER 0 — —

L — AR IERK B4 1 RAE A 19,694, 837 — —
—RIEKM EREES 339, 153, 833 — —
—RIEKRE EARIES 319, 458, 996 — -

I 5% IERKREAE BB DD

ZWMHFMNE 2,500, 000 — —
ARG EERT 35, 106, 593 — —
ARV EZRELSE 34,728, 750 — —
ARG ERMEHFFR 377, 843 — —
REBEEERD 88,010 — —
EMREEXEESZIFR 80, 000 — —
RENEEFRIEEZIAR 8,010 — —
EARBETTE 11,576, 250 — —
—MRIERRBAE A~ DIREEE A 35,194, 603 — —

L AR T IERK B4 1R R RE A 9,076, 250 — -
HEEKRHEHEES 3,084, 291, 250 — -
HEEEKRMEHRES 3,075, 215, 000 — -

I ERMEHRXRES 3,394,673, 996 — -
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